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425 1)
Eivow AB=(1-5,1+2) = AB=(—4,3). Enopévag [AB|= (~4)" +3? =25 =5
425  2)

Etvar AB=(-2-4,3—(-5))=(-6,8)

Enopévag [AB| = J(-6) +8 =36+ 64 =100 = 10
425  3)
Etvar AB=(3-(-2),5-(-7))=(5.12)

Enopévag ‘E\ =52 +12% =25+144 =169 =13

425  4)
Etvar AB=(3-4,7-6)=(-L11)
Emopévag ‘A—B‘ =4’(—1)2 +12 =2

425  5)

Eivar AB=(-6-3,-3-9)=(-9,-12)

Enopévo [AB] = [(-9) +(~12)° =JBT+144 =225 =15
425  6)
Etvar AB=(10-2,4—(-11))=(8,15)
Emopévos [AB| = 82 +15% =64+ 225 =289 =17
425 7

Etvar AB=(1-3,1-(-1))=(-2,2)

Emopévacg ‘?B‘ = J(—2)2 +2° = 2\/5



